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Achievement test
Group learning mathematics. Finalterm test 2/2012
Fundumental Mathematics (M 22102) Grade 8.
Scored 30 points with 60 minutes.

Choose the best answer by making x
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1. Give that ABAC = AEDC find the value of x

a. b cm
b.7 cm X
13 cm E
c. 12 cm '\
d.13 cm
B 5cm C 12 cm b

2. Based on the diagram , find the length of PR.

a.19 cm

s 5 | R
b.32 cm 19 cm
13 cm
c.40 cm
P ‘ Q

d. 46 cm 27 m

3. Based on the diagram , find the length of KP given that KMLP is a line

a. 26 cm ]
b.33 om /@\
K M 12 cm L 14 cm p
c.37 cm \@/
11 cm
d. 40 cm

N
4. Based on the diagram , find the length of VX given that VTXU is a line

a. 10 cm S
14 cm
b. 15 cm 15 cm
c. 20 cm v T/ 10 cm X U
) 10 cm



5. Which test can be used to determine if AABC = ADFE ?

« A
8. "Side-Side-Side” test D
b. “Side-Angle-Side” test E C
C. "Angle-Side-Angle” test

B F

d. “Angle—Angle—Side” test

6. Which test can be used to determine if APQR = ATUS?

“ , , P
d.  Side-Side-Side” test
b. “Side-Angle-Side” test s + |
) Q | 1 u
C. "Angle-Side-Angle” test :*:

d. “Angle-Angle-Angle” test T
7.Based on the diagram ,Which statement is not correct?

a. APQS =ARQS P

b. AQsP =AQsSR )/\é\
Q S
c. AsPQ =ARsQ W

d. AsQp =AsSQR R

8. Based on the diagram ,Which statement is not correct?.

]
a. ADFE =AJLK E D
b. AEDF ZALKJ ﬁ
c. AFDE XALJK K L
F

d. The two triangles are not congruent

9. Based on the diagram ,Which statement is correct?.

a. AABC =AADE A 14em
b. AACB =AEDA 14 cm
19 cm
c. ABCA =ADEA B ¢
5cm
d. ACAB =AAED

D
10. Based on the diagram ,Which statement is correct?

a. AABC =AFFG
b. AABC =AEGF A
c. ABCA =AGFE

d. ABCA =AFEG



11. Based on the diagram ,UTV=VTW Find perimeter of ATUW ,incm

a.3 T
b. 8 5cm
c. 5
d. 16 U
3cm V w
12. Based on the diagram , find the lengths of x and y
a. x=5cm, y=5cm D
b.x=5cm, y=7cm A Y
F
c.x=7cm, y=5cm 7 cm C c X
dx=7cm, y=7cm B 5 cm
13. Based on the diagram , AABC=ADEC and CE =40 cm. Find the lengths of AE,in cm
a. 4 E
A
b. 10 50 cm
c. 14
B D
d. 20 40 cm < 36 cm
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14. KLM is right-angled triangle. Which of the following is true?

a Uz 4+ v? - w? L
2 2 2
buU2 —v%-=-w y W
c. V% + w?-y?
K M

d..v% — w2 -y? v

15. in the diagram ,the value of x,incm,is

a. 6 R
b. 7 /61 cm
5cm
c.8
d. 9 P ” Q
16. in the diagram ,the value of x,incm,is
R
a. 6
13 cm
b.5 12cm
c.4 P e

d. 3



17. in the diagram, the value of x,incm,is

a. 9 R
b. 10 < 6 o
c. 11
P
d. 12 Scm Q

18. Given that QR=RS, find the length of PR

a. 7.2 s
b. 10.2 10 cm
R
c.15.2
P Q
d. 17.2 6 cm

19. in the diagram , ABCD is a rectangle. Find the area of the shaded region, in cm’

a. 92 D 20 cm C
b. 102 8 cm
10 cm E
c. 152
d. 176 A B

20. in the diagram , ABCD is a trapezium. Find the area of the shaded region, in cm’

a. 30 D 6 cm C
b. 32 4 cm
5am E
c.34
d. 36 A 10 cm B
21. in the diagram,the value of x,incm,is
a. 7 R
b. 11
x 5 cm
c. 13
P
d. 17 12 cm <
22. in the diagram,the value of x,incm,is
R
a. 18
b. 24 25 cm
7 cm
c. 26
P Q

d. 32 X



23. find the length of AB
a. 11

y®
b. 12 /
15 cm
c.13
d. 17 9 cm A

24. in the diagram,the value of xand vy

a. x=8cm, y=8cm

b.x=8cm, y=16cm V185 cm

c.x=16cm, y =16 cm 11 cm

d.x=16cm, y=32cm X — y
25. The area of the parallelogram in the diagram shown above is 170 cm’  find the
value of x 17 cm

a. v116 cm

b. 10 cm

c. V41 !

d. 16 cm 4 cm

26. find the value of y using Pythagoras’theorem

a. 2 cm 15 cm

b. 8 cm

c. 23 cm Yy
17 cm

d. 32 cm

27. find the value of y using Pythagoras’theorem

a. 6 cm

24 cm
b. 8 cm

c. 10 cm

d. 12 cm 26 cm



28.

29.

30.

In the figure , ABCD is arectangle. Find the area of the shaded region, in cm’
a. 660 D 30 cm C
b. 600
c. 560 26 cm e
d. 500 A 8 cm B
Identify the hypotenuse of the right-angled triangle in the diagram shown
a. XY z
b.YZ
c. XZ
d. Xz° Y X
Identify the hypotenuse of the right-angled triangle in the diagram shown
a. AC B
b. BC
c. AB
d. AB* A C
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